
 
 

Level 2 – Fortgeschritten – Blatt 1 Lösung A1 a) 10� � 10000 b) 4� � 64 c) 3	 � 9 d) 0,125�  e) 16�	 � �	�� f) ��	�� � �� g) �2� � �32 h) 3� � 243  i) 4�	 � ��� j) 16� � 4096 k) ��	��� � �	� l) �2� � �8	  m) � �	���	 � �	��  n) 2�� � �� o) �	⋅���⋅���	 � 	���  Lösung A2 a) 10�	 b) ��	� �	 � 3	 c) 32� d) ��∙�� �� � 5�  e) 1 f) �21���� g) �1,5 �� h) ��∙�⋅��⋅�⋅	�� � 1  i) 1000�����	 j) ��∙�⋅!⋅"⋅"�⋅!⋅" �� � �5���     Lösung A3 a) ����� � 2�  b) 2�  c) �����  d) � �	��� � �����  e) �� �	� �� � 3�  f) ���	� �� � �3�  g) ���	�� �� � 3�  h) ����	� �� � �3�  i) �����  j) 5�  k) �1,5��  l) �����  m) �����  n) �����   Lösung A4 a) �����  b) � ��	��  c) 3	  d) 5  e) �����  f) ��	���  g) �	���  h) ��#� ��  i) ��#� �	  j) ��#	��� � �	���  l) �!�"!$"�	  m) �%   Lösung A5 a) ��	��	 � ��  b) ��	� ��	 � ��  c) ��∙	��∙� ��	 � �	�  d) �	�∙�� ��� � � �����  e) �	�⋅�� ��� � � ��	��  f) �	�⋅�� ��� � � ��	��  g) �	�⋅�� ��� � � �����  h) � ��∙	���� � 18�  i) � ��∙	���� � 32�  j) � ��⋅��� � �����  k) ��∙	�⋅��� � � �����  l) � 		⋅���∙���� � �	���  m) ��	 � �	�& n) �16�	 � 9�	��	&$�  o) �9�	 � 4�	�&�	  p) �!'�"'�()�!$"�() � �!$"�()⋅�!�"�()�!$"�() � �� � ���&  q) �!'�"'�)*+�!�"�)*+ � �!$"�)*+⋅�!�"�)*+�!�"�)*+ � �� , ��&$�  r) ��!'���"'�'-()��!$�"�'-() � ��!$�"�'-()⋅��!��"�'-()��!$�"�'-() �3� � 4��	��& s) ��!'���"'�')��"��!�') � ��!$�"�')∙��!��"�')��"��!�') � ��!$�"�')∙��!��"�')���!��"�') � ��3� , 4��	&    



 
 

Level 2 – Fortgeschritten – Blatt 1 Lösung A6 a) ��⋅��⋅��� � �	���  b) ���⋅�	��⋅� �(. � ����(.  c) ���∙	���⋅� �'( � ��#� �'(	  d) ���∙	���⋅� �'( � ��#� �'(  e) � �⋅��	�⋅���'( � � ��#�'(   Lösung A7 a) 18! b) ��∙	� �% � 4% c) ��#� �/ � 2/ d) �� 	,�#,��& � ��3�&  e) 1,5& f) 12	! g) 1,5�" � �	��" h) 1  i) 2	�0 j) 1 k) 4%$� l) 2&$�	  m) 1 n) ����	% o) ����� p) 11� q) �1 r) 2� ⋅ 4� � 8� s) 2� ⋅ 2� � 4� t)  2� ⋅  � � �2 �� u) 5� ⋅ �	( � ��	�� v) 4	: 8�	 � 32	 w) ���' : 16	 � ���. � 16��  Lösung A8  a) 10� � 1000  b) 24	 � 576 c) 2� � 8 d) 1 e) 3� � 81 f) 1 g) 1 h) 5� � 625 i) 200 j) 36! k) 200$� l) 183�� m) ����3 n) �45�& o) � 	 � 9�� p) ��	 � �	�3 q) 2� � 8 r) 1 s) 6	 � 36 t) 1  u) ������ v) � 45�� w) �678�	 x) ����3  Lösung A9  a) �!"��	 b) �09�% c) �09�%$� d) �09��  e) 4	 � 16 f) 5� � 125 g) 43 h) 4%��  i) 3 �!"�� j) 5 �!"�	 k) � �0�#9�� l) ��9�:��  m) �� � ��� n) �2� , 3��� o) �4 , 54�% p) �6 � 4;�%$�  q) ��!�� r) ��"! �	 s) ��"�0�� t) � �0�#:�� u) ��0�9�( � � � 4���  v) � , 4�% w) �26 � ;�� x) �3� , 4��	%  


